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Note : All questions are compulsory. 

1. Match column A with column B : 	 5x2=10 

Column A 	 Column B 
(a) Full grain 	(i) Arranging the leather 
(b) Sorting 	 (ii) Grains are visible 
(c) Nubuck leather 	(iii) 7 - 9 mm 
(d) A grade leather 	(iv) Nap effect 
(e) Underlay allowance (v) 3% defect 

2. 	Fill in the blanks : 	 5x2=10 

(a) Leather is a 	 product. 

(b) 	 is best quality of leather. 

(c) In case of split leather. G = 	 

used. 

(d) 1 dm2 = 	 2 cm . 

(e) Parallelogram area in RSM is known as 
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Short Answer questions : 	 10x5=50 

3. Write down quality parameters for cutting 

synthetic material by machine. 

4. What do you mean by full-grain leather ? 

5. What is the difference between suede and nubuck 

leather ? 

6. Explain the disadvantage of marking up method. 

7. Write down the formula for calculating gross area 

of full grain leather and corrected grain (C.G) 

leather. 

Long Answer questions : 	 15x2=30 

8. Explain in brief the various systems available for 

calculating material consumption per pair. 

9. List the type of documents and explain them, 

which are required for clicking. 
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